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 �пп4D4т 46то<4т8чеEк89 для уEкоDе==о7о опDеделе=8я  

те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8я 

  ЛинтеЛ® КD8Eт4лл-201    ��$ 2.772.020    __ . __ . 20___ 

(т8п)  (<од8D8к4F8O)  (о5о7=4Gе=8е)  (746одEко9 =о<еD)   (д4т4 6KпуEк4) 

1 О!�О��/� &�%��Ч�!К�� ����/� � %� �К&� �!&�К� 

1.1 �пп4D4т л45оD4тоD=K9 46то<4т8GеEк89 ЛинтеЛ® КD8Eт4лл-20Э (6 д4лL=е9Hе< - 4пп4D4т), 
пDед=47=4Gе= длO уEкоDе==о7о опDеделе=8O те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8O по 
�О!& 5066, �О!&   53706, �О!& 18995.5,  ISO 3013, ASTM D2386. 

1.2 О5л4EтL пD8<е=е=8O - л45оD4тоD88 пDо<KHле==KE пDедпD8Oт89 8 оD74=874F89, =4уG=о-

8EEледо64телLEк8е 8=Eт8тутK. 
1.3 �пп4D4т 877ото6ле= 6 кл8<4т8GеEко< 8Eпол=е=88 7DуппK '%Л4 по �О!& 15150-69. 

1.4 ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 1. 
&45л8F4 1 – ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4  
87<еDе=8я 

�=4че=8е 

�4пDO6е=8е Eет8 п8т4=8O � от 187 до 253 

Ч4Eтот4 Eет8 п8т4=8O �F от 49 до 51 

�отDе5лOе<4O <оI=оEтL, =е 5олее: �т  300 

&е<пеD4туD4 окDу64NIе9 EDедK °! от 10 до 35 

От=оE8телL=4O 6л46=оEтL пD8 те<пеD4туDе +25°!, =е 5олее % 80 

�т<оEDеD=ое д46ле=8е << Dт.Eт. от 680 до 800 

1.5 �Dо876од8телL=оEтL 4пп4D4т4 ук474=4 6 т45л8Fе 2. 

&45л8F4 2 – �Dо876од8телL=оEтL 

�4D4<етD 
�д8=8F4 

87<еDе=8я 

&е<пеD4туD4 Eл4д47е=т4, °C 

-15 +5 +20 

&8п Eл4д47е=т4 - Eп8Dт1 6од42 

�86=89 пDедел те<пеD4туDK 6  
OGе9ке 5лок4 оEл46де=8O 

°! -80 -70 -60 

1.6 �4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 3. 

&45л8F4 3 –�4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4 
87<еDе=8я 

�=4че=8е 

�4EE4 4пп4D4т4, =е 5олее к7 15 

 47<еDK 4пп4D4т4 (H8D8=4 E 6KEот4 E 7лу58=4) << 450E380E360 

�4EE4 4пп4D4т4 6 уп4ко6ке, =е 5олее к7 26 

 47<еDK 4пп4D4т4 6 уп4ко6ке (H8D8=4 E 6KEот4 E 7лу58=4) << 610E510E460 

1.7 &оG=оEт=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 4. 

&45л8F4 4 – &оG=оEт=Kе E4D4ктеD8Eт8к8  

�ок474телP 
�д8=8F4 

87<еDе=8я 
�=4че=8е 

�о7DеH=оEтL 87<еDе=8O те<пеD4туDK пDо5K °! ±1 

                     
1  еко<е=дуетEO подклNG8тL 4пп4D4т к кD8оEт4ту ЛинтеЛ ® &К!-20. 
2 �8=8<4лL=K9 D4EEод 2 л/<8=. 
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1.8 �ок474тел8 =4дU6=оEт8 

1.8.1 �еDоOт=оEтL 5е7отк47=о9 D45отK 74 1000 G4Eо6 =е <е=ее 0,96. 
1.8.2 !Dед=89 EDок Eлу65K 6 лет. 
1.9 �де=т8D8к4F8о==Kе пD87=4к8 пDо7D4<<=о7о о5еEпеGе=8O пD86еде=K 6 т45л8Fе 5. 

&45л8F4 5 – �де=т8D8к4F8о==Kе пD87=4к8 пDо7D4<<=о7о о5еEпеGе=8O 

�D87=4к �=4че=8е 

�еDE8O 1.08 

Ко=тDолL=4O Eу<<4 DF24AA97 
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О5о7=4че=8е �48<е=о64=8е Кол-6о �D8<еч4=8е 

��$ 2.772.020 

�пп4D4т 46то<4т8GеEк89 длO 
опDеделе=8O те<пеD4туD кD8Eт4лл874F88 
8 74<еD74=8O ЛинтеЛ® КD8Eт4лл-20Э 

1 

 

��$ 2.772.020  Э  уко6одEт6о по MкEплу4т4F88 1  

��$ 2.772.020 �! �4EпоDт 1  

��$ 2.772.020 �� �Dо7D4<<4 8 <етод8к4 4ттеEт4F88 1  

�D8=4дле6=оEт8 

��$ 6.210.099 Кол54 E 6тулко9 (пDо58Dк4) 2  

 &Dу5к4 E8л8ко=о64O <ед8F8=Eк4O 10x2 2x1,5<  

 %о<ут GеD6OG=K9 10-16 2  
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3 !����&�Л0!&�О О � ���К� 

�пп4D4т 46то<4т8чеEк89 для уEкоDе==о7о опDеделе=8я  
те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8я 

  ЛинтеЛ® КD8Eт4лл-201    ��$ 2.772.020    __ . __ . 20___ 

(т8п)  (<од8D8к4F8O)  (о5о7=4Gе=8е)  (746одEко9 =о<еD)   (д4т4 6KпуEк4) 
 

Eоот6етEт6ует теE=8GеEк8< тDе5о64=8O< �&� .441336.063 &' 8 пD87=4= 7од=K< к MкEплу4т4F88. 
 

<еEто 

пеG4т8 

 

   �4т4 6KпуEк4       «___»   _______________ 20 __7. 
 

�4G4лL=8к О&К  ________________    _________ 

        ($4<8л8O 8 8=8F84лK)           (подп8EL) 

�пп4D4т уп4ко64= Eо7л4E=о тDе5о64=8O<, пDедуE<отDе==K< 6 ко=EтDуктоDEко9 доку<е=т4F88. 
 

�4т4 уп4ко6к8  «____»   _______________ 20 __7. 

'п4ко6ку пDо876ел _____________________ 
($4<8л8O 8 8=8F84лK) 

_____________ 
(подп8EL) 

�пп4D4т поEле 
уп4ко6к8 пD8=Oл  

_____________________ 
($4<8л8O 8 8=8F84лK) 

_____________ 
(подп8EL) 

4 �� �H&��   ���О&О��&�ЛЯ 

4.1 �77ото68телL 74D4=т8Dует Eоот6етEт68е 4пп4D4т4 теE=8GеEк8< тDе5о64=8O< �&� .441336.063 
&' пD8 Eо5лNде=88 уEло689 MкEплу4т4F88, тD4=EпоDт8Dо64=8O, ED4=е=8O, уEт4=о6ле==KE 6 
Dуко6одEт6е по MкEплу4т4F88 ��$ 2.772.020  Э. 

4.2 �4D4=т89=K9 EDок MкEплу4т4F88 12 <еEOFе6 E <о<е=т4 поEт46к8, пD8 =4D45отке =е 5олее 
2 500 G4Eо6. 

4.3 !Dок Eлу65K 4пп4D4т4 6 лет, пD8 =4D45отке =е 5олее 15 000 G4Eо6. 
4.4 �пп4D4т, у котоDо7о 6 теGе=8е 74D4=т89=о7о EDок4 о5=4Dу6864етEO =еEоот6етEт68е 

тDе5о64=8O< Dуко6одEт64 по MкEплу4т4F88, 877ото68телL 5е76о7<е7д=о 74<е=Oет 8л8 
Dе<о=т8Dует по <еEту 877ото6ле=8O. 

4.5 �пп4D4т пD8=8<4етEO =4 74D4=т89=K9 Dе<о=т 6 уп4ко6ке пDедпD8Oт8O - 877ото68телO E 
пол=K< ко<плекто< пD8=4дле6=оEте9, E 74пол=е==K< л8Eто< уGет4 =е8EпD46=оEте9. 
�опуEк4етEO дDу74O уп4ко6к4, о5еEпеG864NI4O пDедоED4=е=8е 4пп4D4т4 от по6Dе6де=8O 
пD8 по7Dу7ке-D477Dу7ке 8 тD4=EпоDт8Dо6ке 4пп4D4т4. 

4.6 !6еде=8O о5 4пп4D4те (<оделL, EеD89=Kе =о<еD4, д4т4 пDод468, пеG4тL тоD7уNIе9 
оD74=874F88), ук474==Kе 6 п4EпоDте, дол6=K Eоот6етEт6о64тL 87дел8N. 

4.7 �D46о =4 пDо6еде=8е 5еEпл4т=о7о 74D4=т89=о7о Dе<о=т4 8<еет толLко �О �!К� 
«�еDтеE8<46то<4т8к4» 8л8 л8Fо, 8<еNIее EеDт8D8к4т =4 пDо6еде=8е д4==KE D45от, 
6Kд4==K9 ук474==о9 6KHе оD74=874F8е9.  

4.8 �4<е=е==Kе деDект=Kе G4Eт8 87дел8O O6лONтEO Eо5Eт6е==оEтLN пDо876од8телO 8 6о76D4ту 
=е подле64т.  
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4.9 �Eл8 6 теGе=8е 74D4=т89=о7о пеD8од4 6 87дел88 5удет о5=4Dу6е= деDект <4теD84л4 8л8 

877ото6ле=8O, пDо876од8телL =4 E6оU 8EклNG8телL=ое уE<отDе=8е отDе<о=т8Dует 8л8 
74<е=8т 87дел8е 4=4ло78G=K<.  

4.10 �о 8EтеGе=88 74D4=т89=о7о EDок4 Dе<о=т 87дел8O пDо876од8тEO =4 о5I8E оE=о64=8OE 8 6 
Eоот6етEт688 E т4D8D4<8, уEт4=о6ле==K<8 пDо876од8теле< 

4.11 �4D4=т89=Kе о5O74телLEт64 =е D4EпDоEтD4=ONтEO =4 уIеD5, деDект, =еудо6лет6оD8телL=ое 
Dу=кF8о=8Dо64=8е, 6о7=8кH8е 6 Dе7улLт4те:  
 E5ое6 6 D45оте 87дел8O 87-74 =еEо5лNде=8O пD468л MкEплу4т4F88;  
 <еE4=8GеEк8E по6Dе6де=89 4пп4D4т4 8 пD8=4дле6=оEте9, 6K764==KE =е5Dе6=оEтLN пD8 

MкEплу4т4F88; 
 по6Dе6де=89, 6о7=8кH8E 6EледEт68е =е5Dе6=оEт8 пD8 тD4=EпоDт8Dо6ке;  
 по6Dе6де=89, 6K764==KE поп4д4=8е< 6=утDL 87дел8O поEтоDо==8E пDед<ето6, пKл8, 

6еIеEт6, 68дкоEте9, =4Eеко<KE, 7DK7у=о6;  
 по6Dе6де=89, 6K764==KE Eт8E89=K< 5едEт68е< (7Dо7о9, <ол=8е9, =46од=е=8е< 8 т. д.);  
 по6Dе6де=89, 6K764==KE =еEоот6етEт68е< 7оEуд4DEт6е==K< Eт4=д4Dт4< п4D4<етDо6 

п8т4NI8E Eете9;  
 =е8EпD46=оEт8 поDт4 COM 6K764==о9 подклNGе=8е</отклNGе=8е< пеD8DеD89=о7о 

уEтDо9Eт64 пD8 6клNGU==о< п8т4=88;  
 лN5о9 дDу7о9 пD8G8=K, =е E6O74==о9 E пDо876одEт6е==K< деDекто< 87дел8O.  

4.12 �4D4=т8O =е D4EпDоEтD4=OетEO =4 87дел8O 87 Eтекл4. 

4.13 �DедпD8Oт8е-877ото68телL 74D4=т8Dует =е87<е==оEтL тоG=оEт=KE E4D4ктеD8Eт8к, 
подт6еD6де==KE пD8 пеD68G=о9 4ттеEт4F88 поEле тD4=EпоDт8Dо6к8. 

5 �О Я�ОК � ��.Я�Л���Я  �КЛ���&�� 

5.1  екл4<4F88 пDедJO6лONтEO пD8 уEло688 6еде=8O уGет4 =е8EпD46=оEте9 пD8 MкEплу4т4F88 
(E<. �D8ло6е=8е �). Л8Eт уGет4 =е8EпD46=оEте9 =4пD46лOтL 877ото68телN E 
EопDо6од8телL=K< п8EL<о<. 

5.2 �лO пDедJO6ле=8O Dекл4<4F89 о5D4I4тLEO по 4дDеEу пDедпD8Oт8O-877ото68телO. 

6 � ��� �Я&��-���О&О��&�Л0 

�дDеE пDедпD8Oт8O-877ото68телO: 
�О �!К� «�еDтеE8<46то<4т8к4». 
450075,  оEE89Eк4O $едеD4F8O,  еEпу5л8к4 �4HкоDтоEт4=, 7. 'D4 пD. ОктO5DO, 149. 
Ко=т4ктK: 

пD8U<=4O тел. 
D4кE 

e-mail 

(347) 284-27-47 

(347) 284-35-81 

info@bashnxa.ru 
   

теE=8GеEк4O   поддеD6к4 тел. 

e-mail 

Skype3 

(347) 284-28-32 

support@bashnxa.ru 

neftehimavtomatika 
   

поEт46к4 о5оDудо64=8O тел. (347) 284-44-36, 

(347) 284-27-34 

�4H4 EтD4=8F4 6 �=теD=ете:            bashnxa.ru 

                     
3 �лO оD74=874F88 68деоко=DеDе=F89 8 ко=EулLт4F89 (по пDед64D8телL=о9 до7о6оDU==оEт8 по телеDо=у). 

mailto:support@bashnxa.ru
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О� ���& Л�!&� 'Ч�&� ���!� ���О!&�� 

�пп4D4т 46то<4т8чеEк89 для уEкоDе==о7о опDеделе=8я  
те<пеD4туD кD8Eт4лл874F88 8 74<еD74=8я 

  ЛинтеЛ® КD8Eт4лл-201    ��$ 2.772.020    __ . __ . 20___ 

(т8п)  (<од8D8к4F8O)  (о5о7=4Gе=8е)  (746одEко9 =о<еD)   (д4т4 6KпуEк4) 
 
 

 
'Ч�& ���!� ���О!&�� � � 1К!�Л'�&�&�� 

 

�4т4 отк474 

 е68< D45отO 

%4D4ктеD =47Dу7к8 

%4D4ктеD =е8EпD46=оEт8 

�D8ч8=4 =е8EпD46=оEт8 

Кол.  
ч4Eо6 
D45отO 

�D8<еч4=8е 

 
   

    

    

    

    

    

    

    

    

    

    

    

    

 

 

       

(дол6=оEтL)  ($4<8л8O, 8=8F84лK)  (подп8EL)  (д4т4) 
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� �ЛО����� �. �� ���& / ��!& О�К� 

 

�4D4<етDK =4EтDо9к8 опDеделONтEO 6 пDоFеEEе 877ото6ле=8O 8 O6лONтEO 8=д868ду4лL=K<8 длO 
к46до7о 4пп4D4т4. 'к474=8е п4D4<етDо6 =4EтDо9к8 =ео5Eод8<о длO о5еEпеGе=8O 
Dе<о=топD87од=оEт8 4пп4D4т4. 
�4пол=е=8е т45л8F пDо876од8тEO поEле пD8U<к8 4пп4D4т4 О&К. 
 

&45л8F4 �.1 – �4EтDоеG=Kе коMDD8F8е=тK 

�4D4<етD �=4че=8е 

k t° пDо5K 
 

b t° пDо5K 
 

 

Ко=D87уD4F8O �О 
 

 


